


 

 التصحيح النموذجي:
C التمرين الأول ) 4 ن( : = 12 + (√3)(1−√2)2 ∈ 𝑅    ، 𝐵 = 34 ×2252 ∈ 𝐷  ،𝐴 = 4 ∈ 𝑁 ، 

 𝐷 = −2 ∈ ℤ 
 التمرين الثاني ) 4 ن( :

1)  2 ≤ 𝑥 − 𝑦 ≤ 6   ،3 ≤ √2𝑥2 + 7 ≤ 1و  5 ≤ 𝑥2𝑦2 ≤ 81 

2 )0.408 ≤ √𝑥2𝑦2𝑥−𝑦 ≤ 6.363   

 التمرين الثالث ) 6 ن( :

𝐸عددان طبيعيان حيث:  𝐹و  𝐸ليكن  = 𝐹و  990 = 2024 

1 )𝐸 = 2 × 32 × 5 × 𝐹و  11 = 23 × 11 × 𝐸5 و 23 × 𝐹3 = 214 × 310 × 55 × 118 × 233  

2 )𝑃𝐺𝐶𝐷(𝐸; 𝐹) = ;𝑃𝑃𝐶𝑀(𝐸و  22 𝐹) = 91080 

3 )𝑃𝐺𝐶𝐷(𝐸; 𝐹) × 𝑃𝑃𝐶𝑀(𝐸; 𝐹) = 𝐸 × 𝐹 = 2003760  

4 )𝐸𝐹 = 4592  

 التمرين الرابع ) 6 ن( :

1 )𝐶 = 1611999 = 179111  

  أولي179 ( العدد 2 

𝑎أ(  = 2,349 × 𝑏و  10−3 = 7,86027525 × 106
  

𝑎 : رتبة مقدار  = 2 × 𝑏و  10−3 = 8 × 106 

𝑎رتبة مقدار كل من ب( استنتج  × 𝑏 = 2 × 𝑏𝑎و  104 = 4 × 109 

 


